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Answer all three questions.
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1 Translate the following passage into English: [40 marks]
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TAHA HUSAIN, Al-Ayyaam, 1973, Beirut, p.28 (adapted)

2 Answer the questions below about the text on p.3 in English:
[30 marks]

1. What is a &L= and what do you learn from 11.3 - 4 about this particular one?
2. What were Harun and Jafar arguing about in the first paragraph?

3. What was the problem mentioned in 1.6?

4. What was the solution?

5. What was the next problem Harun wanted solving?

6. What was the proposed solution?

7. Why did this solution not work initially?

8. How did the judge get it to work in the end?
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divorce &NUa

ABBOUD, P.F. et al., Elementary Modern Standard Arabic 2, 1983, pp.285 - 6, adapted
from Alf Laila wa Laila (adapted).
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3 Answer the questions below the following text in English. [30 marks]
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ASH-SHARQ AL-AWSAT, 7/10/2006

1. In what country is King's Academy?
2. What pupils does it aim to cater for?
3. What school is it modelled on?

4. Who went to this second school?

5. What is said about 2007 - 8?

6. What will the curriculum focus on?
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7. Find words or phrases in the text meaning:
para.l: a) tries;
para.2: b) boarding (school); ¢) model or pattern; d) fields.

8. Give the root, pattern and approximate meaning of:
a) 4aaalal (headline);

b) Jase3 (1.5 & 6);

c) dses (1.6);

d) Leas (1.6);

e) wlhdgieus (1.8);

f) aladll (1.10).

9. In the second paragraph:

a) Which verb is passive?

b) Which word is the beginning of a 4&a dlaa (adjective clause)?

c¢) There are four instances, underlined, of Jl. For each one, give the vowelling and
explain why that particular word is used in that place.

10. What does L refer to in:
a) Leale (1.3);

b) Lad (1.7);

c) Las (1L11)?

END OF PAPER



